Int. J. Nonlinear Anal. Appl. 15 (2024) 6, 349–353 ISSN: 2008-6822 (electronic) http://dx.doi.org/10.22075/ijnaa.2023.30722.4435



Consideration of fuzzy zero based on transmission average

Fatemeh Babakordi*, Nemat Allah Taghi-Nezhad

Department of Mathematics, Faculty of Science, Gonbad Kavous University, Gonbad Kavous, Iran

(Communicated by Zakieh Avazzadeh)

Abstract

Fuzzy field and arithmetic operators based on transmission average (TA) and neutral member are dealt by Abbasi et al. [1]. Many examples are exist such that based on their definition $\tilde{A}.\tilde{0}_{\tilde{A}}\tilde{0}_{\tilde{A}}.\tilde{A}$) is not equal to $\tilde{0}_{\tilde{A}}$. Therefore, we investigate the conditions that $\tilde{A}.\tilde{0}_{\tilde{A}}(=\tilde{0}_{\tilde{A}}.\tilde{A}) = \tilde{0}_{\tilde{A}}$. Numerical examples show the applicability of theorems and mentioned problems.

Keywords: Transmission average, Fuzzy arithmetic, Fuzzy neutral element 2020 MSC: 94D05

1 Introduction

Field is an algebraic structure, in which the operations of sum, subtraction, multiplication and division are defined and real numbers, complex numbers, and rational numbers are mentioned as the most famous fields. Recently, the concept of fuzzy fields used in different mathematical branches by researchers [2, 7, 9, 10, 11, 12, 14]. The concept of fuzzy ideal is introduced by Wenxiang and Tu [16]. Also, the extension of the defined fuzzy field is presented by them [8]. Recently, fuzzy field and ring are defined by Abbasi et al. [1] which is used to rank fuzzy numbers [3]. Fuzzy equations is solved on the basis of fuzzy field by Allahviranloo et al. [4]. In this paper, the properties of the defined neutral element in [1] is presented. The structure is as follows. In section 2, basic definitions are given. Properties are presented in section 3. In section 4, numerical examples are provided. Finally, conclusion is expressed in section 5.

2 Basic Definitions

Definition 2.1. Let \tilde{A} is a normal, convex and continuous (NCC) fuzzy set on the universal set U. Then, from [10] it is defined:

$$ac(\tilde{A}) = \frac{1}{2}(\min core(\tilde{A}) + \max core(\tilde{A})).$$

Definition 2.2. [10] A fuzzy number \tilde{A} is called a pseudo-trapezoidal fuzzy number if its membership function $\mu_{\tilde{A}}(x)$ is given by:

$$\mu_{\tilde{A}}(x) = \begin{cases} l_{\tilde{A}}(x), & \underline{a} \le x \le a_1, \\ 1, & a_1 \le x \le a_2, \\ r_{\tilde{A}}(x), & a_2 \le x \le \overline{a}, \\ 0, & \text{otherwise} \end{cases}$$

*Corresponding author

Email addresses: babakordif@yahoo.com (Fatemeh Babakordi), ntaghinezhad@gonbad.ac.ir (Nemat Allah Taghi-Nezhad)

where $l_{\tilde{A}}(x)$ and $r_{\tilde{A}}(x)$ are non-decreasing and non-increasing functions respectively. The pseudo-triangular fuzzy number \tilde{A} is denoted by $\tilde{A} = (\underline{a}, a_1, a_2, \overline{a}, l_{\tilde{A}}(x), r_{\tilde{A}}(x))$ and the triangular fuzzy number by $\tilde{A} = (\underline{a}, a_1, a_2, \overline{a}, -, -)$.

Definition 2.3. [10] A fuzzy number \tilde{A} is called a pseudo-triangular fuzzy number if its membership function $\mu_{\tilde{A}}(x)$ is given by:

$$\mu_{\tilde{A}}(x) = \begin{cases} l_{\tilde{A}}(x), & \underline{a} \le x \le a, \\ r_{\tilde{A}}(x), & a \le x \le \overline{a}, \\ 0, & \text{otherwise} \end{cases}$$

where $l_{\tilde{A}}(x)$ and $r_{\tilde{A}}(x)$ are non-decreasing and non-increasing functions respectively. The pseudo-triangular fuzzy number \tilde{A} is denoted by the quintuplet $\tilde{A} = (\underline{a}, a, \overline{a}, l_{\tilde{A}}(x), r_{\tilde{A}}(x))$ and the triangular fuzzy number by the quintuplet $\tilde{A} = (\underline{a}, a, \overline{a}, l_{\tilde{A}}(x), r_{\tilde{A}}(x))$ and the triangular fuzzy number by the quintuplet $\tilde{A} = (\underline{a}, a, \overline{a}, -, -)$.

Definition 2.4. [1] Let $\tilde{A} = (\underline{a}, a, \overline{a}, l_{\tilde{A}}(x), r_{\tilde{A}}(x))$ and $\tilde{B} = (\underline{b}, b, \overline{b}, l_{\tilde{B}}(x), r_{\tilde{B}}(x))$ are two pseudo-triangular fuzzy numbers with the following α -cut forms:

$$\tilde{A} = \cup_{\alpha} A_{\alpha}, \qquad A_{\alpha} = [\underline{A}_{\alpha}, \overline{A}_{\alpha}], \qquad \tilde{B} = \cup_{\alpha} B_{\alpha}, \qquad B_{\alpha} = [\underline{B}_{\alpha}, \overline{B}_{\alpha}]$$

In the following, the fuzzy arithmetic operations for pseudo-triangular fuzzy numbers based on TA are defined:

$$\tilde{A} + \tilde{B} = \bigcup_{\alpha} (\tilde{A} + \tilde{B})_{\alpha},$$

$$(\tilde{A} + \tilde{B})_{\alpha} = \left[\frac{a+b}{2} + \left(\frac{\tilde{A}_{\alpha} + \tilde{B}_{\alpha}}{2}\right), \frac{a+b}{2} + \left(\frac{\overline{A}_{\alpha} + \overline{B}_{\alpha}}{2}\right)\right],$$

$$\tilde{A} - \tilde{B} = \bigcup_{\alpha} (\tilde{A} - \tilde{B})_{\alpha},$$
(2.1)

$$(\tilde{A} + \tilde{B})_{\alpha} = \left[\frac{a - 3b}{2} + \left(\frac{\tilde{A}_{\alpha} + \tilde{B}_{\alpha}}{2}\right), \frac{a - 3b}{2} + \left(\frac{\overline{A}_{\alpha} + \overline{B}_{\alpha}}{2}\right)\right],$$

$$\tilde{A} \quad \tilde{B} = \bigsqcup_{\alpha} (\tilde{A} \quad \tilde{B})_{\alpha}.$$

$$(2.2)$$

$$(\tilde{A}.\tilde{B})_{\alpha} \begin{cases} \left[\left(\frac{b}{2}\right)\underline{A}_{\alpha} + \left(\frac{a}{2}\right)\underline{B}_{\alpha}, \left(\frac{b}{2}\right)\overline{A}_{\alpha} + \left(\frac{a}{2}\right)\overline{B}_{\alpha} \right], & a \ge 0, b \ge 0, \\ \left[\left(\frac{b}{2}\right)\overline{A}_{\alpha} + \left(\frac{a}{2}\right)\underline{B}_{\alpha}, \left(\frac{b}{2}\right)\underline{A}_{\alpha} + \left(\frac{a}{2}\right)\overline{B}_{\alpha} \right], & a \ge 0, b \le 0, \\ \left[\left(\frac{b}{2}\right)\overline{A}_{\alpha} + \left(\frac{a}{2}\right)\overline{B}_{\alpha}, \left(\frac{b}{2}\right)\underline{A}_{\alpha} + \left(\frac{a}{2}\right)\underline{B}_{\alpha} \right], & a \le 0, b \ge 0, \\ \left[\left(\frac{b}{2}\right)\underline{A}_{\alpha} + \left(\frac{a}{2}\right)\overline{B}_{\alpha}, \left(\frac{b}{2}\right)\underline{A}_{\alpha} + \left(\frac{a}{2}\right)\underline{B}_{\alpha} \right], & a \le 0, b \ge 0, \\ \left[\left(\frac{b}{2}\right)\underline{A}_{\alpha} + \left(\frac{a}{2}\right)\overline{B}_{\alpha}, \left(\frac{b}{2}\right)\overline{A}_{\alpha} + \left(\frac{a}{2}\right)\underline{B}_{\alpha} \right], & a \le 0, b \ge 0. \end{cases}$$

$$(2.3)$$

Definition 2.5. [1] Let $\tilde{A} = \left(\underline{a}, a_1, a_2, \overline{a}, l_{\tilde{A}}(x), r_{\tilde{A}(x)}\right)$ and $\tilde{B} = \left(\underline{ba}, b_1, b_2, \overline{b}, l_{\tilde{B}}(x), r_{\tilde{B}(x)}\right)$ are two pseudo-trapezoidal fuzzy numbers with the following α -cut forms:

$$\begin{split} \tilde{A} &= \cup_{\alpha} A_{\alpha}, \quad A_{\alpha} = \left[\underline{A}_{\alpha}, \overline{A}_{\alpha}\right], \\ 0 &\leq \alpha \alpha \leq 1, \quad A_1 = [a_1, a_2], \\ \tilde{B} &= \cup_{\alpha} B_{\alpha}, \quad B_{\alpha} = \left[\underline{B}_{\alpha}, \overline{B}_{\alpha}\right], \\ 0 &\leq \alpha \leq 1, \quad B_1 = [b_1, b_2]. \end{split}$$

Let

$$\phi = \frac{a_1 + a_2}{2}, \quad \varphi = \frac{b_1 + b_2}{2},$$

In the following, the fuzzy arithmetic operations for pseudo-trapezoidal fuzzy numbers based on TA are defined:

/

$$\tilde{A} + \tilde{B} = \bigcup_{\alpha} \left(\tilde{A} + \tilde{B} \right)_{\alpha},
\left(\tilde{A} + \tilde{B} \right)_{\alpha} = \left[\frac{\phi + \varphi}{2} + \left(\frac{\underline{A}_{\alpha} + \underline{B}_{\alpha}}{2} \right), \frac{\phi + \varphi}{2} + \left(\frac{\overline{A}_{\alpha} + \overline{B}_{\alpha}}{2} \right) \right],
\tilde{A} - \tilde{B} = \bigcup_{\alpha} \left(\tilde{A} - \tilde{B} \right) ,$$
(2.4)

$$\left(\tilde{A} - \tilde{B}\right)_{\alpha} = \left[\frac{\phi - +3\varphi}{2} + \left(\frac{\underline{A}_{\alpha} + \underline{B}_{\alpha}}{2}\right), \frac{\phi - 3\varphi}{2} + \left(\frac{\overline{A}_{\alpha} + \overline{B}_{\alpha}}{2}\right)\right],$$

$$(2.5)$$

$$\tilde{A}.\tilde{B} = \bigcup_{\alpha} (\tilde{A}.\tilde{B})_{\alpha},$$

$$(\tilde{A}.\tilde{B})_{\alpha} = \begin{cases} \left[\begin{pmatrix} \frac{\varphi}{2} \end{pmatrix} \underline{A}_{\alpha} + \begin{pmatrix} \frac{\phi}{2} \end{pmatrix} \underline{B}_{\alpha}, \frac{\varphi}{2} \overline{A}_{\alpha} + \begin{pmatrix} \frac{\phi}{2} \end{pmatrix} \overline{B}_{\alpha} \right], & \phi \ge 0, \varphi \ge 0, \\ \left[\begin{pmatrix} \frac{\varphi}{2} \end{pmatrix} \overline{A}_{\alpha} + \begin{pmatrix} \frac{\phi}{2} \end{pmatrix} \underline{B}_{\alpha}, \frac{\varphi}{2} \underline{A}_{\alpha} + \begin{pmatrix} \frac{\phi}{2} \end{pmatrix} \overline{B}_{\alpha} \right], & \phi \ge 0, \varphi \le 0, \\ \left[\begin{pmatrix} \frac{\varphi}{2} \end{pmatrix} \overline{A}_{\alpha} + \begin{pmatrix} \frac{\phi}{2} \end{pmatrix} \overline{B}_{\alpha}, \frac{\varphi}{2} \underline{A}_{\alpha} + \begin{pmatrix} \frac{\phi}{2} \end{pmatrix} \underline{B}_{\alpha} \right], & \phi \le 0, \varphi \le 0, \\ \left[\begin{pmatrix} \frac{\varphi}{2} \end{pmatrix} \underline{A}_{\alpha} + \begin{pmatrix} \frac{\phi}{2} \end{pmatrix} \overline{B}_{\alpha}, \frac{\varphi}{2} \overline{A}_{\alpha} + \begin{pmatrix} \frac{\phi}{2} \end{pmatrix} \underline{B}_{\alpha} \right], & \phi \le 0, \varphi \ge 0, \end{cases}$$

$$(2.6)$$

Definition 2.6. [1] Let $F_C(R)$ is a set of pseudo-geometric fuzzy numbers defined on set of real numbers. Then:

$$\forall \ \tilde{A} \exists \ 0_{\tilde{A}} \ st; \ \tilde{A} + 0_{\tilde{A}} = 0_{\tilde{A}} + \tilde{A} = \tilde{A}, \ \tilde{A} - \tilde{A} = 0_{\tilde{A}},$$

For $\tilde{A} = (\underline{a}, a, \overline{a}, l_{\tilde{A}}(x), r_{\tilde{A}}(x))$:

$$0_{\tilde{A}} = (\underline{a} - a, 0, \overline{a} - a, l_{\tilde{A}}(x+a), r_{\tilde{A}}(x+a)), \qquad (2.7)$$

For $\tilde{A} = (\underline{a}, a_1, a_2, \overline{a}, l_{\tilde{A}}(x), r_{\tilde{A}}(x))$:

$$0_{\tilde{A}} = \left(\underline{a} - \phi, \frac{a_1, a_2}{2}, \frac{a_2 - a_1}{2}, \overline{a} - \phi, l_{\tilde{A}}(x + \phi), r_{\tilde{A}}(x + \phi)\right).$$
(2.8)

Definition 2.7. [1] Let \tilde{A} and \tilde{B} are two normal, convex and continuous (NCC) fuzzy sets. Then

 $\tilde{A} \cong \tilde{B}$ if and only if $ac(\tilde{A}) = ac(\tilde{B})$

Definition 2.8. [7] Two fuzzy numbers \tilde{A} and \tilde{B} are said to be equal and is denoted as $\tilde{A} = \tilde{B}$ if and only if

$$\forall x \in X \quad \mu_{\tilde{A}}(x) = \mu_{\tilde{B}}(x) \tag{2.9}$$

3 The properties of fuzzy zero number

This section is started by using a numerical example.

Example 3.1. Consider that fuzzy number $\tilde{D} = (-2, 0, 100000, 100000, -, -)$. We have:

$$0_{\tilde{D}} = (-2 - 50000, -50000, 50000, 50000, -, -) = \bigcup_{\alpha} [2\alpha - 50002, 50000]$$

and

$$\begin{split} \tilde{D}.0_{\tilde{D}} &= \bigcup_{\alpha} [50000(2\alpha - 50002), 50000(50000)] \\ &= (-2500100000 - 2500000000, 2500000000, 2500000000, -, -) \end{split}$$

Hence $ac\left(\tilde{D}.0_{\tilde{D}}\right) = ac\left(0_{\tilde{D}}\right) = 0$. That is $\tilde{D}.0_{\tilde{D}} \cong 0_{\tilde{D}}$. As it is seen in this example two fuzzy numbers $\tilde{D}.0_{\tilde{D}}$ and $0_{\tilde{D}}$ are considered approximately equal. However, the difference spreads are so much. Hence, in the following the conditions are discussed where using fuzzy arithmetic operations based on TA, two fuzzy numbers $\tilde{D}.0_{\tilde{D}}$ and $0_{\tilde{D}}$ be exactly equal.

Theorem 3.2. Consider the pseudo-triangular fuzzy number $\tilde{A} = (\underline{a}, a, \overline{a}, l_{\tilde{A}}(x), r_{\tilde{A}}(x)) = \bigcup_{\alpha} [\underline{A}_{\alpha}, \overline{A}_{\alpha}]$ and its corresponding zero $0_{\tilde{A}} = (\underline{a} - a, 0, \overline{a} - a, l_{\tilde{A}}(x+a), r_{\tilde{A}}(x+a)) = \bigcup_{\alpha} [\underline{A}_{\alpha} - a, \overline{A}_{\alpha} - a]$. If for $a \ge 0$ we have a = 2 or $\underline{A}_{\alpha} = \overline{A}_{\alpha} = a$ and for $a \le 0$ we have $\underline{A}_{\alpha} = \overline{A}_{\alpha} = a$ or a = -2, then $\tilde{A} \cdot 0_{\tilde{A}} = 0_{\tilde{A}}$.

Proof. Two fuzzy numbers are equal if their membership functions are equal or for each $\alpha \in [0, 1]$, their α -cuts be equal. Hence, in order to $\tilde{A}.0_{\tilde{A}} = 0_{\tilde{A}}$, for each $\alpha \in [0, 1]$ we show $(\tilde{A}.0_{\tilde{A}})_{\alpha} = (0_{\tilde{A}})_{\alpha}$, we consider two situations:

(i) If $a \ge 0$, then we obtain from (2.3), $\left(\tilde{A}.0_{\tilde{A}}\right)_{\alpha} = \bigcup_{\alpha} \left[\left(\frac{a}{2}\right) \left(\underline{A}_{\alpha} - a\right), \left(\frac{a}{2}\right) \left(\overline{A}_{\alpha} - a\right) \right]$, we have:

$$\begin{cases} a = 2 \\ or \\ \underline{A}_{\alpha} = \overline{A}_{\alpha} = a \end{cases} \Rightarrow \begin{cases} \left(\frac{a}{2}\right) \left(\underline{A}_{\alpha} - a\right) = \left(\underline{A}_{\alpha} - a\right) \\ \left(\frac{a}{2}\right) \left(\overline{A}_{\alpha} - a\right) = \left(\overline{A}_{\alpha} - a\right) \end{cases} \Rightarrow \left[\left(\frac{a}{2}\right) \left(\underline{A}_{\alpha} - a\right), \left(\frac{a}{2}\right) \left(\overline{A}_{\alpha} - a\right) \right] = \left[\left(\underline{A}_{\alpha} - a\right), \left(\overline{A}_{\alpha} - a\right) \right]$$

Therefore $\left(\tilde{A}.0_{\tilde{A}}\right)_{\alpha} = (0_{\tilde{A}})_{\alpha}.$

(ii) If $a \leq 0$, then we obtain from (2.3), $\left(\tilde{A}.0_{\tilde{A}}\right)_{\alpha} = \bigcup_{\alpha} \left[\left(\frac{a}{2}\right) \left(\overline{A}_{\alpha} - a\right), \left(\frac{a}{2}\right) \left(\underline{A}_{\alpha} - a\right) \right]$, on other hand:

$$\begin{cases} a = -2 \\ or \\ \underline{A}_{\alpha} = \overline{A}_{\alpha} = a \end{cases} \Rightarrow \begin{cases} \left(\frac{a}{2}\right) \left(\overline{A}_{\alpha} - a\right) = \left(\underline{A}_{\alpha} - a\right) \\ \left(\frac{a}{2}\right) \left(\underline{A}_{\alpha} - a\right) = \left(\overline{A}_{\alpha} - a\right) \end{cases} \Rightarrow \left[\left(\frac{a}{2}\right) \left(\overline{A}_{\alpha} - a\right), \left(\frac{a}{2}\right) \left(\overline{A}_{\alpha} - a\right) \right] = \left[\left(\underline{A}_{\alpha} - a\right), \left(\overline{A}_{\alpha} - a\right) \right]$$

Therefore $\left(\tilde{A}.0_{\tilde{A}}\right)_{\alpha} = (0_{\tilde{A}})_{\alpha}$, so the proof is completed.

Theorem 3.3. Consider the pseudo-triangular fuzzy number $\tilde{A} = (\underline{a}, a, \overline{a}, l_{\tilde{A}}(x), r_{\tilde{A}}(x)) = \bigcup_{\alpha} [\underline{A}_{\alpha}, \overline{A}_{\alpha}]$ and its corresponding zero $0_{\tilde{A}} = (\underline{a} - \phi, \frac{a_1 - a_2}{2}, \frac{a_2 - a_1}{2}, \overline{a} - \phi, l_{\tilde{A}}(x + \phi), r_{\tilde{A}}(x + \phi)) = \bigcup_{\alpha} [\underline{A}_{\alpha} - \phi, \overline{A}_{\alpha} - \phi]$. for $\phi \ge 0$ if $\phi = 2$ or $\underline{A}_{\alpha} = \overline{A}_{\alpha} = \phi$ and for $\phi \le 0$ if $\underline{A}_{\alpha} = \overline{A}_{\alpha} = \phi$ or $\phi = -2$, then $(\tilde{A}.0_{\tilde{A}})_{\alpha} = (0_{\tilde{A}})_{\alpha}$.

Proof . The proof is similar to the previous one. \Box

4 Numerical Example

In this section the applicability of mentioned topics are presented by solving some numerical examples.

Example 4.1. Consider the fuzzy number $\tilde{A}_1 = \left(1, 2, 4, \left(1 - (x - 2)^2\right)^{\frac{1}{2}}, \left(1 - \frac{1}{4}(x - 2)^2\right)^{\frac{1}{2}}\right)$ in example 3.1 of [1]. From (2.7) it is obtained that $0_{\tilde{A}_1} = \left(-1, 0, 2, \left(1 - x^2\right)^{\frac{1}{2}}, \left(1 - \frac{1}{4}x^2\right)^{\frac{1}{2}}\right)$. We have:

$$\tilde{A}_1 = \cup_{\alpha} \left[2 - \sqrt{1 - \alpha^2}, 2 + 2\sqrt{1 - \alpha^2} \right], 0_{\tilde{A}_1} = \cup_{\alpha} \left[-\sqrt{1 - \alpha^2}, 2\sqrt{1 - \alpha^2} \right]$$

From (2.3), it is obtained:

$$\tilde{A}_1, 0_{\tilde{A}_1} = \cup_{\alpha} \left[-\sqrt{1-\alpha^2}, 2\sqrt{1-\alpha^2} \right] = 0_{\tilde{A}_1}$$

As a = 2, it is obtained that $\tilde{A}_{1.0}_{\tilde{A}_{1}} = 0_{\tilde{A}_{1}}$. (theorem 3.1 is holed)

Example 4.2. Consider the fuzzy number $\tilde{A}_7 = \left(\frac{3}{4}, 1, \frac{5}{4}, -, -\right)$ in example 3.1 of [1]. From (2.7), $0_{\tilde{A}_7} = \left(-\frac{1}{4}, 0, \frac{1}{4}, 4(x + \frac{1}{4}), -4(x - \frac{1}{4})\right)$, we have:

$$\tilde{A}_7 = \cup_\alpha \left[\frac{\alpha}{4} + \frac{3}{4}, -\frac{\alpha}{4} + \frac{5}{4} \right], \quad 0_{\tilde{A}_7} = \cup_\alpha \left[\frac{\alpha}{4} - \frac{1}{4}, -\frac{\alpha}{4} + \frac{1}{4} \right].$$

From (2.3), it is obtained:

$$\tilde{A}_{7}.0_{\tilde{A}_{7}} = \bigcup_{\alpha} \left[\frac{1}{2} \left(\frac{\alpha}{4} - \frac{1}{4} \right), \frac{1}{2} \left(-\frac{\alpha}{4} + \frac{1}{4} \right) \right].$$

It is observed that as the conditions of the theorem 3.2 are not held the equality is not held and we have $\tilde{A}_7.0_{\tilde{A}_7} \neq 0_{\tilde{A}_7}$.

Example 4.3. Consider the fuzzy number $\tilde{D} = (-2, 0, 1, 1, -, -)$. From (2.8), $0_{\tilde{D}} = \left(-\frac{5}{2}, -\frac{1}{2}, \frac{1}{2}, \frac{$

$$\tilde{D} = \bigcup_{\alpha} [2\alpha - 2, 1], \quad 0_{\tilde{D}} = \bigcup_{\alpha} \left[2\alpha - \frac{5}{2}, \frac{1}{2} \right]$$

From (6), it is obtained:

$$\tilde{D}.0_{\tilde{D}} = \cup_{\alpha} \left[\frac{1}{4} \left(2\alpha - \frac{5}{2} \right), \frac{1}{4} \left(\frac{1}{2} \right) \right] \neq 0_{\tilde{D}}$$

It is observed that as the conditions of the theorem 3.3 are not held the equality is not held, we have $\hat{D}.0_{\tilde{D}} \neq 0_{\tilde{D}}$.

5 Conclusion

In this paper, first; the defined arithmetical operations and neutral element on the basis of TA by Abbasi et al. [1] are indicated. Following some examples and theorems are presented to show that using the defined arithmetical operations and neutral element on the basis of TA it is concluded that $\tilde{A}.0_{\tilde{A}} \neq 0_{\tilde{A}}$. At the end the condition where $\tilde{A}.0_{\tilde{A}} = 0_{\tilde{A}}.\tilde{A} = 0_{\tilde{A}}$ is expressed. In future work, we are hoped to define neutral member and arithmetic operators based on TA such that the field has a unique neutral member.

References

- F. Abbasi, T. Allahviranloo, and S. Abbasbandy, A new attitude coupled with fuzzy thinking to fuzzy rings and fields, J. Intell. Fuzzy Syst. 29 (2015), 851--861.
- S. Abdullah, M. Aslam, T.A. Khan, and M. Naeem, A new type of fuzzy normal subgroups and fuzzy cosets, J. Intell. Fuzzy Syst. 25 (2013), 37—47.
- [3] T. Allahviranloo and S.'Abbasbandy, A new attitude coupled with the basic thinking to ordering for ranking fuzzy numbers, Int. J. Ind. Math. 8 (2016), no. 4, 365–375.
- [4] T. Allahviranloo, I. Perfilieva and F. Abbasi, A new attitude coupled with fuzzy thinking for solving fuzzy equations, Soft Comput. 22 (2018), 3077–3095.
- [5] F. Babakordi and M. Adabitabar Firozja, Solving fully fuzzy dual matrix system with optimization problem, Int. J. Ind. Math. 12 (2020), 109–119.
- [6] F. Babakordi and T. Allahviranloo, A Cramer method for solving fully fuzzy linear systems based on transmission average, Control Optim. Appl. Math. 2 (2022), 115–130.
- [7] D. Dubois and H. Prade, Fuzzy Sets and Systems: Theory and Applications, Academic Press, New York, 1980.
- [8] G. Gebray and B. Krishna Reddy, Fuzzy set field and fFuzzy metric, Adv. Fuzzy Syst. 2014 (2014), 15–15.
- F. Khalili Goodarzi, N.A. Taghinezhad, and S.H. Nasseri, A new fuzzy approach to solve a novel model of open shop scheduling problem, Appl. Math. Phys. 76 (2014), 199-210.
- [10] G.J. Klir and B. Yuan, Fuzzy Sets and Fuzzy Logic: Theory and Applications, Prentice-Hall PTR, Upper Saddle River, 1995.
- [11] S. Markov, A non-standard subtraction of intervals, Serdica 3 (1977), 359-370.
- [12] S. Markov, On the algebra of intervals and convex bodies, J. Univer. Comput. Sci. 4 (1998), 34–47.
- [13] S.H. Nasseri, N.A. Taghi-Nezhad and A. Ebrahimnejad, A novel method for ranking fuzzy quantities using center of incircle and its application to a petroleum distribution center evaluation problem, Int. J. Ind. Syst. 27 (2017), no. 4, 457–484.
- [14] L. Stefanini, A generalization of Hukuhara difference and division for interval and fuzzy arithmetic, Fuzzy Sets Syst. 161 (2010), 1564–1584.
- [15] F. Taleshian, J. Fathali and N.A. Taghi-Nezhad, Fuzzy majority algorithms for the 1-median and 2-median problems on a fuzzy tree, Fuzzy Inf. Engin. 10 (2018), no. 2, 225–248.
- [16] G. Wenxiang and L. Tu, Fuzzy linear spaces, Fuzzy Sets Syst. 49 (1992), 377–380.